
WARNING

Armstrong Cast Aluminum Fire Pit Table Item#: 

07272





       3

PACKAGE CONTENTS

PART DESCRIPTION QUANTITY

Removable Burner Cover 1

1

1

 Panel

 Panel

1Gas Tank Support Bar

1Gas Tank Support Ring

1Protective Cover

1Fire Glass

B

A

C

D

E

F

I

G

J

H

PACKAGE CONTENTS

HARDWARE CONTENTS TOOLS

Wrench

Hex KeyPlastic Cap (M8)

Bolt 8x20mm

(4 for assembly +1 extra)

Washer Spring Washer 8mm

(4 for assembly +1 extra)

Bolt 6x25mm

(8 for assembly +1 extra)

Bolt 6x18mm

(3 for assembly +1 extra)

Washer 6mm

(11 for assembly +1 extra)





       5

ASSEMBLY

2

1

E
D

F

E

PREPARATION

Before beginning assembly, be sure to empty contents of carton and make sure all parts are present. If any parts are 

missing, please contact Customer Service at (866)-985-7877, Monday-Friday, 9 a.m. -  p.m. EST or email  

cservice@welltraveled.net.

Place all parts on a soft, level surface for assembly. NOTE: it is recommended to use TWO PEOPLE to assemble this gas fire 

pit. Estimated assembly time: 60 minutes. | Do NOT overtighten hardware!

1 

Hardware:  Bolt (6x25mm) x 8
 Washer (6mm) x 8

Locate 4 Panels / / . 

 

Place a Washer  on each of 8 Bolts  and insert through 

holes of Side Panels into the holes of Leg Panels / .

Tighten all Bolts  w

2 

Hardware:  Bolt (6x18mm) x 2
 Washer (6mm) x 2



       6

ASSEMBLY

3

4

D

D

3 
Gas Tank Support Ring  over Gas Tank 

Support Bar  and align hole on front of Gas Tank Support 

Ring with holes at the bottom of Front Door Panel .  

Washer   then  hole. Tighten 

with Hex Key .

Hardware Used: 

Hardware:  Bolt (8x20mm) x 4
Washer/Spring Washer (8mm) x 4

 Plastic Cap x 4

4 
Turn the assembled table base , then place Table Top  

over Legs, and align the holes on Table Top with holes on the 

top of Legs. 

Bolt  nto the hole . Tighten with 

Wrench  then cover bolt heads with Plastic Caps 

• •



         B C

D

       

ASSEMBLY

   

   

B

C

     Pour the Fire Glass J  around the Burner. Be careful not         
.    to obstruct pilot light housing.Put the Removable Burner 
Cover A on the Burner. When the 

Protective Cover I. DO NOT PUT THE PROTECTIVE 
FIRE PIT COVER ON A HOT FIRE PIT.

J

I

D



      

ASSEMBLY

 

7

7

7

7 Connect hose and regulator to cylinder. The propane gas and 

cylinder are sold separately. Use a standard 20lb propane cylinder 

have this book.

Storage of an appliance indoors is permissible only if the cylinder is 

disconnected and removed from the appliance. A cylinder must be 

stored outdoors in a well-ventilated area out of the reach of children. A 

disconnected cylinder must have dust caps tightly installed and must not 

be stored in a building, garage or any other enclosed area. The maximum 

inlet gas supply pressure: 250 , the minimum inlet gas supply 

pressure: 5 . 

for automatic operation at ratings less than full input rating. The pressure 

regulator and hose assembly supplied with the appliance must be used. 

The installation must conform with local codes, or in the absence of local 

codes, with national fuel gas code, ANSI Z223.1/NFPA54, natural gas and 

propane Installation Code, CSA B 149.1, or propane storage and handling 

code, B149.2.





      

LEAK CHECK

2. Apply several drops of solution where hose attaches to regulator.

3. Apply several drops of solution where regulator connects to cylinder.

5. Turn cylinder valve ON.

If bubbles appear at any connection there is a leak.

1. Turn cylinder valve OFF.

the hose should be returned to the place of purchase.

If NO bubbles appear at any connection, the connections are secure.

NOTE: Whenever gas connections are loosened or removed, you must perform a complete leak test. Complete installation.

Hose / Regulator

Connection

Regulator / Cylinder 

Connection

   WARNING! 

OPERATING INSTRUCTIONS

 



OPERATION CHECKLIST:

FOR YOUR SAFETY



OPERATING INSTRUCTIONS

NOTE: If burner fails to remain lit, close all valves and wait at least 5 minutes before attempting to light.

Figure BFigure A

SHUT DOWN: AFTER OPERAT ON :

Figure 





      

CONVERSION TO NATURAL GAS

 

   WARNING! To avoid the possibility of burns conversion should only be done when the patio 

beginning conversion.

 WARNING! Fire Glass may have sharp edges. Wear safety glasses and gloves when handling.

   WARNING! 
connections must be leak tested prior to operating the appliance.

2

3

emove the  from the enclosure.

Take care not to damage or kink the

Thermocouple Wire.









an additional year




